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i txzex | NS | EW | 5223 | NS | EW | #3 | #4 | #3 | #4|u3|#a Mean NS EW
11 S |None 5CXW-1 100 4HS-2 100 200 5 EW80 5 1
12 | W | NS 5HS5 650 7SXE-3 500 150 4 NS570 2 2
13 | N |Both 3NS5 660 3NS4 630 30 1 NS640 1
14 | E |None 2NN-1 50 2NN2 120 170 5 NS30 -2 -3
15| S | NS 1SE2 110 2SE4 170 60 2 EW80 -1 3
16 | W | EW 3CE-1 100 2DN2 90 10 NS90
17 | N |None 4HE5 450 4HW5 450 EW450
18 | E NS 3NS5 660 3NS6 690 30 1 NS650 -1
19| S | EW 4HW4 620 4HE4 620 EW490 -4 4
20 | W |Both 3DN-2 200 2HW2 110 90 3 EW140 -2 -1
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bl Hru% | NS | EW | ¢%=225% | NS | EW | #1 | #2 |#1 | #2|#1 | #2 || Mean | Ns EW
11 S |None 3NE4 430 5CXW-1 100 530 11 EW80 -8 -5
12 | W | NS 5HS5 650 4SXE-3 500 150 4 NS570 2 2
13 | N |Both 3NS4 630 3NN5 660 30 1 NS640 -1
14 | E |None 2NN-1 50 2NN2 120 170 5 NS30 -2 -3
15| S | NS 3NE-1 50 3CS-1 100 150 4 EW80 4 1
16 | W | EW 2DN2 90 3CE-1 100 10 NS90
17 N |None| 4HW5 450 4HW5 450 EW450
18 E NS 3NS3 600 3NS5 660 60 2 NS650 -2
19| S | EW 4HW4 620 3DXS-1 100 520 11 EW490 -4 -9
20 | W |Both 3HW3 140 2HW2 110 30 1 EW140 -1
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Kl 29zmx | NS [ EW | 25z2% | NS | EW | #4 | #3 | #4 | #3 | #a|#3 || Mean | Ns | EW
11| S |None| 4Hs-2 100 | 5CXW-1 | 100 200 5 EWS80 | -1 -5
12| w|Ns| 7sxe3 | 500 5HS5 650 150 4 NS570 | -2 -2
13| N |Both| 3Ns4 630 3NS5 660 30 1 NS640 A
14 | E |None]  2NN2 120 2NN-1 50 | 170 5 NS30 | 3 2
15| s | NS 2SE4 170 1SE2 110 60 2 EW80 | -3 1
16| W |EW 2DN2 90 3CE-1 100 10 NS90
17 | N |None|  4HWS5 450 4HE5 450 EWA450
18| E | NS 3NS6 690 3NS5 660 30 1 NS650 | 1
19| s |Ew 4HE4 620 4HW4 620 EW490 | -4 4
20 | W [Both| 2HW2 110 3DN-2 200 | 90 3 EW140 | 1 2
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¥l z9zmx [ NS | EW | mz2s | NS | EW | #2 | #1 | #2 ] #1 |#2]# || Mean | Ns EW
11| S |None| 5CXw-1 | 100 3NE4 430 | 530 1 EWS0 | 5 8
12| W | Ns| 4sxe3 | 500 5HS5 650 150 4 NS570 | -2 2
13| N |Both| 3NN5 660 3NS4 630 30 1 NS640 | 1
14| E |None|]  2NN2 120 2NN-1 50 | 170 5 NS30 3 2
15| S | NS 3CS-1 100 3NE-1 50 150 4 EWS0 | -1 -4
16| W | EW 3CE-1 100 2DN2 20 10 NS90
17 | N |None|  4Hws 450 4HW5 450 EW450
18| E | NS 3NS5 660 3NS3 600 60 2 NS650 2
19| s | EW| 3Dxs-1 100 4HW4 620 | 520 1 EW490 | 9 4
20 | W |Both|  2HW2 110 3HW3 140 | 30 1 EW140 | 1
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